Match each expression with it's binomial factors. When you finish matching the factored form, then
match the explanation that best describes why you matched the expressions as you did.

Na? — 64 a) (z + 8)°
2)g? — 16z + 64 b} (z + 8) (z — 8)
3z + 16z + 64 <) (z—16) (z +4)
4) g ~ 120 — 64 d)(z—8)°

Factor the left expression of the equation completely, then determine if the right side is correctly
factored form. If it is not, make the necessary corrections.

5192° — 16 = (3z — 4)°
6)4x* — 100 = (2 — 10) (2z + 10)

7)2522 — 40z 4 16 = (5z — 4)°
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